

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 6/26/2015 10:14:38 AM

APPLICATION ID: NRCAPP14038

Mode of Payment: DD/Payorder/Banker's

DD/Payorder/Banker's Cheque Number: 584370

Cheque

DD/Payorder/Banker's Cheque Date:

DD/Payorder/Banker's Cheque Bank: STATE

28/05/2015

BANK OF INDIA, HAMIRPUR

1

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

: SHIV PRAKASH SINGH

Designation

: MANAGER

Address

: VILL. DARIYAPUR POST KUNDAURA DISTT.

**HAMIRPUR** 

E-mail Address

: spsingh3132@gmail.com

Telephone No (Office)

: 0

Telephone No (Resi)

: 0

Mobile No.

: 09415003132

Name of the Applicant/Organization/Socity/Trust

: OM HARIHAR SEWA SANSTHAN

Postal Address of the Applicant

Plot Number

Street/Road

:0

Village/Town/city

: VILL DARIYAPUR

Post Office

: BHARUA

POST KUNDAURA

SUMERPUR

Tehsil/Taluka

: HAMIRPUR

Town/City

: VILL DARIYAPUR POST KUNDAURA

State

: UP

District

: Hamirpur (UP)

Pin Code

: 210502

STD Code

E-mail ID

Fax No.

: 0 :0

Telephone No

: 09415440253

Website Address

: UNDER PROCESS

spsingh3132@gmail.c

om

Permanent Account Number of Society/Trust/body

: AAATQ2567N



A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant /

Organization / Society / Trust

Trigarina artificity	7 11400					
Name and Address of the Institution	Name of the Programme	Level of the Programme	Duration of the	Year of starting the	Name of the	Date of Affiliation
			Programme	Programme	Board/Univer.	
OM HARIHAR	B.A.	Others	3	2012	BUNDELKHA	Oct 15
MAHAVIDYALAYA					ND	2012
KUNDAURA HAMIRPUR					UNIVERSITY	
					JHANSI	
OM HARIHAR	B.SC. (MATH &	Others	3	2012	BUNDELKHA	Oct 15
MAHAVIDYALAYA	BIO)				ND	2012
KUNDAURA HAMIRPUR					UNIVERSITY	
					JHANSI	



A Statutory Body Of The Government Of India

#### Particulars of Applicant Institution

Institution Information

Name of the Institution

: OM HARIHAR MAHAVIDYALAYA

Programm Applied for

: D.El.Ed

Nature of Application

: New Recognition

Mode of Course

: Face

Complete Postal Address[As mentioned in the Affidavit]

Land Identification (Plot/Khasara No.)

356

Land Title

: OWNERSHIP

Plot Number

: 356

Street Number

: 0

Village

: VILL DARIYAPUR POST

1

KUNDAURA

Post Office

: BHARUA SUMERPUR

Tehsil/Taluka

: HAMIRPUR

Town/City

: VILL DARIYAPUR POST

: UP

KUNDAURA

State

District

: Hamirpur (UP)

Pin Code

: 210502

Telehpone No

: 0

Fax No.

: 0

E-mail ID

: spsingh3132@gmail.com

Website Address

: UNDER PROCESS

Institution is for

: Coed

Institution is a Minority Institution

: N.A.

Type of Institutions

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: State Council of Educational Research and Training,

Uttar Pradesh

Address

: JBTC Campus

NISHAT GANJ, LUCKNOW 226007

E-MAIL: dscertup@gmail.com

Telephone Nos.

: 0522-2780385



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

					7		
Name of the	Date of	Applicati	Name of	Academic	Proposed	Regional	Status
Institution	Application	on ID	the	session for	intake	Committe to	
			Program	which		whom	
			me	applied		applied	



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)

: 18580.00

Built up area earmarked for the programm (in

: 2282.22

sq. mts.)

Whether the building constructed / proposed to

be constructed on the same land.

Date of completion of construction of the

: 30/09/2015

building.

Name of the competent authority for approval of : GRAM PRADHAN

building plan and issue of completion certificate

of building plan and issue of completion

Address of the competent authority for approval : GRAM PRADHAN GRAM PANCHAYAT VILL & POST

KUNDAURA TEHSIL HAMIRPUR DISTT. HAMIRPUR

certificate .

U.P.

: Yes

Whether Bldg. is disabled -friendly as per the

Total Built up Area (in sq. meter)

: 2282.22

Total Built up Area (in sq.ft.)

: 24566.00

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
				meter
Class Room	1	11.50	7.62	87.63
Class Room	1	11.50	7.62	87.63
Class Room	1	11.50	7.62	87.63
Class Room	1	11.50	7.62	87.63
Multipurpose Hall	1	7.62	28.37	216.17
Multipurpose	1	5.04	7.62	38.40
Room				
Seminar room /	1	7.62	7.56	57.60
Tutorial room				

Library	1	12.55	7.62	95.63
Principal Room	1	6.00	7.62	45.72
Administrative Office	1	7.78	7.62	59.28
Store Room	1	4.31	4.99	21.50
Store Room	1	5.04	7.62	38.40
Sports Store Room	1	7.56	7.62	57.60
Girls Common Room	1	7.62	3.90	29.71
Boys Common Room	1	5.04	7.62	38.40
Art & Crafts Room	1	7.56	7.62	57.60
Science Lab1	1	7.56	7.62	57.60
Psychology Lab	1	7.56	7.62	57.60
Educational Technology (ET) / ICT Lab	1	7.56	7.62	57.60
Any other Room / Hall	1	6.50	7.62	25.40
Any other Room / Hall	1	5.27	7.62	40.15



A Statutory Body Of The Government Of India

#### Details of Instructional Resources

Library

Total number of Titles : 800

Total number of Books : 2400

Journals : 25

Computer Laboratory

No. of Computers : 15

Internet Access : Yes

LAN : Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
PRINCIPAL	1	32000	1	0
LECTURER	40	18000	40	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant
				Posts
LAB ASSTT	7	12000	7	0
LAB ATTED	2	8000	2	0
СОМ ОРЕ	1	12000	1	0

#### Administrative Staff

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
LIBRARIAN	1	12000	1	0
OS	1	12000	1	0



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes

Details of Existing Teacher Education Programmes run by the same applicant

Society/Trust/Organisation/Company

~		Commenceme	approve d intake				
---	--	------------	------------------	--	--	--	--

CLERK	5	10000	5	0
SWEEPER	2	8000	2	0
PEON	2	8000	2	0
GUARD	2	8000	2	0 =



A Statutory Body Of The Government Of India

#### Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq.
1	20	60	meter
		1 00	1200

Website: www.ncte-india.org